www.ktoutdoor.com
12-400465B 06/74 to 11/76 IPL 21734 Page 1 of 3

Portable Generator

K&T Saw Shop 606-678-9623 or 606-561-4983



12-400465B 06/74 to 11/76 IPL 21734
Portable Generator

www.ktoutdoor.com
Page 2 of 3

Ref # Part Number Qty Description

1 21729 1 Engine, Assy.

2 21601 2 Rall, Engine

3 21602 1 Cover, Back

4 21603 1 Plate, Stator Support

5 21604 4 Post, Stator

6 21731 1 Rotor Assy.

7 21662 2 Stator Assy. Half

8 21608 4 Screw, Adjusting

9 21610 1 Wiring Cable Assy.

10 21611 1 Wire Assy., Jumper

11 21612 1 Cover, Front

12 21613 1 Cradle

13 21190 4 Mount, Rubber

14 21717 1 Receptacle Box/Bracket Assy.

15 21618 1 Wire Harness Set

16 21392 2 Receptacle, 230V, Std.

17 21270 1 Holder, Fuse

18 21290 1 Holder, Spare Fuse

19 21281 3 Fuse

20 21632 1 Cover, Receptacle 15A

21 21636 1 Tube, Oil Fill & Dip Stick Assy.

22 21637 1 Clamp, Oil Fill Tube

23 21638 1 Tag, Ground

24 21639 Tag, Fuse Not used on this model

25 21741 1 Tag, Serial Number

26 21642 2 Grommet, Rubber

27 21643 4 Keeper, Wire

28 21050 12 Capscrew, Hex Hd, 5/16-18 x 1-1/2

29 21645 4 Capscrew, Hex Hd, 5/16-24 x 3/4

29 Retaining Bolts Engine to Back Cover Torque Value
120-144 in./Ibs.

30 21743 1 Capscrew, Hex Hd, 5/16-24 x 2-1/4

30 Rotor Retaining Bolt Torque Value 240-264 in./Ibs.

31 21647 1 Capscrew, Hex Hd, 5/16-18 x 1

32 21649 4 Capscrew, Hex Hd, 1/4-20 x 1

32 Stator Post Retaining Bolt Torque Value 120-140
in./Ibs.

33 21650 5 Screw, Pan Hd, #8 Type AB Sheet Metal

34 21651 4 Capscrew, Hex Soc. Hd, Nylok, 1/4-20 x 1-1/4

34 Stator Retaining Screw Torque Value 55-60 in./Ibs.

35 21652 Screw, Drive, #2 x 3/16 Not used on this model

36 21080 13 Nut, Keps, 5/16-18

37 21654 1 Nut, Wing, 5/16-18

38 21655 1 Washer, Flat, 5/16 x 1/4 thick

39 21656 4 Washer, Flat, 1/4 x 1/8 thick

40 21725 6 Washer, Lock Star, 5/16

41 21030 4 Washer, Lock, 1/4

42 21734 1 [lllustrated Parts List

43 21726 4 Speed Nut

44 21727 1 McCulloch Decal

K&T Saw Shop 606-678-9623 or 606-561-4983



12-400465B 06/74 to 11/76 IPL 21734

Wiring Schematic

RED

+-

STATOR

www.ktoutdoor.com
Page 3 of 3

1GA. FUSE

BLACK m

OCRANGE

WHITE

RECEPT.

dLVE

RECEPT.

YELLOW

K&T Saw Shop 606-678-9623 or 606-561-4983



